
PROBLEMAS DE RADICACIÓN 55 
 

1 

RADICACIÓN 

Problema 55: 

Simplifica: 

[
1 − 𝑏ିଶ

𝑏ଶ − 1
·

1

𝑏ସ
]ଵ/ଶ · [

1 − 2𝑏ିଵ + 𝑏ିଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ 

Solución Problema 55:  

[
1 − 𝑏ିଶ

𝑏ଶ − 1
·

1

𝑏ସ
]ଵ/ଶ · [

1 − 2𝑏ିଵ + 𝑏ିଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ =  

[
1 −

1
𝑏ଶ

𝑏ଶ − 1
·

1

𝑏ସ
]ଵ/ଶ · [

1 −
2
𝑏

+
1

𝑏ଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ = [

𝑏ଶ − 1
𝑏ଶ

𝑏ଶ − 1
·

1

𝑏ସ
]ଵ/ଶ · [

𝑏 − 2
𝑏

+
1

𝑏ଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ =  

= [
1

𝑏ଶ
·

1

𝑏ସ
]ଵ/ଶ · [

𝑏(𝑏 − 2) + 1
𝑏ଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ = [

1

𝑏଺
]ଵ/ଶ · [

𝑏ଶ − 2𝑏 + 1
𝑏ଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ = 

= ඨ
1

𝑏଺
· [

(𝑏 − 1)ଶ

𝑏ଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ =

1

𝑏ଷ
 [

1

𝑏ଶ
]ିଵ/ଶ =

1

𝑏ଷ
·

1

(
1

𝑏ଶ)ଵ/ଶ
=  

1

𝑏ଷ
·

1

ට
1

𝑏ଶ

=  

=
1

𝑏ଷ
·

1

1
𝑏

=
1

𝑏ଷ
· 𝑏 =  

𝑏

𝑏ଷ
=  

1

𝑏ଶ
 

Luego: 

[
1 − 𝑏ିଶ

𝑏ଶ − 1
·

1

𝑏ସ
]ଵ/ଶ · [

1 − 2𝑏ିଵ + 𝑏ିଶ

(𝑏 − 1)ଶ
]ିଵ/ଶ =

1

𝑏ଶ
  

 

 

 

 

 


